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Introduction
Good attempt—student mentioned the recent U.S. policy decision and linked it with India’s dependence on foreign job markets. However, it could be sharper by briefly pointing out both the problem (fee hike + reliance) and the need for domestic reforms in the first lines.
Body
Strong coverage—student explained implications (economic, humanitarian, diplomatic) with examples like remittances, IT sector, small firms, and MEA diversification. Measures like diversification, domestic innovation, upskilling, and incentives are relevant and specific. Still, some points are a bit lengthy; more concise structure with subheadings could improve readability. Also, the humanitarian angle could be shorter, and more space should be given to solutions.
Conclusion
Very good—student concluded with a balanced view: short-term problem but long-term opportunity for domestic innovation. The linking of “hindrance into catalyst” is effective. Still, it can be made crisper by directly stating: “India must build resilience by strengthening its domestic job market.”
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